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. INSTRUCTIONS
All questions are of objective type having four answer options for each.

Catcg_oryjlz Carries 1 mark each and only one option is correct. In case of incorrect answer godny
combination of more than one answer, % mark will be deducted. '

Categfary:Z: Carries 2 marks each and only one option is correct. In case of incorrect dnswer or any
combination of more than one answer, %2 mark will be deducted.

Category-3: (a) One or more option(s) is/are correct; (b) Marking all correct option(s) only will yield
2 (two) n:l.arks; (¢) For any combination of answers containing one or more incorrect options, the said
answer will be treated as wrong, yielding a zero mark even if one or more of the chosen option(s) is/
a.n'e correct; (d) For partially correct answers, i.e., when all right options are not marked and also no
incorrect options are marked, marks awarded =2 x (no of correct options marked) + total no of the correct
option(s); (¢) Not attempting the question will fetch zero mark.

Questions must be answered on OMR sheet by darkening the appropriate bubble marked A, B, C or D.
Use only Black/Blue ink ball point pen to mark the answer by filling up of the respective bubbles
completely.

Do not put any mark other than where required in specified places on the OMR Sheet.

Write question booklet number and your Roll Number carefully in the specified locations of the

OMR Sheet. Also fill appropriate bubbles.
Write your name (in block letter), name of the examination center and put your signature

(as it appeared in the Admit Card) in appropriate boxes in the OMR Sheet.

The OMR Sheet is liable to become invalid if there is any mistake in filling the correct bubbles for

Question Booklet number/Roll Number or if there is any discrepancy in the name /signature of the
candidate, name of the examination center. The OMR Sheet may also become invalid due to folding
or putting stray marks on it or any damage made to it. The consequence of such invalidation due to
incorrect marking or careless handling by the candidate will be the sole responsibility of the candidate.

Candidates are not allowed to carry any written or printed material, calculator, slide rule, pen, log-table,

wristwatch, graph, any communication device like mobile phones, bluetooth device etc. inside the

examination hall. Any candidate found with such prohibited items will be reported against and his/
her candidature will be summarily cancelled.
Rough work must be done in the Question Booklet itself. Additional blank pages are given in the Question

Booklet for rough work.

Hand over the OMR Sheet to the invigilator before leaving the Examination Hall.

This Booklet contains questions in both English and Bengali. Necessary care and precaution were taken

while framing the Bengali version. However, if any discrepancy(ies) is/are found between the two
: ted in the English version will stand and will be treated as final.
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CHEMISTRY
Category -1 (Q. 41 to 70)
(Carry 1 mark each. Only one option is correct. Negative mark: -1)

@ The number of lone pair of electrons and the hybridization of Xenon (Xe) in XeOF, are
XeOF, 7% Xenon (Xe)-&d A7t LeraGA-(SITOs FRY! IR I 21

(A) 1,sp’ (B) 1, dsp?
(C) 3,dsp’ @ 2,sp’d

@ In the following reaction, the major product (H) is
Ax Rignoe 24 Rizearare w3l (H) =1
0

1) MeMgBr/dry ether, 0 °C
01\/\)L ii) H,0® =
Me
(o}
w| ] ®) M\/\JL
[8) {?Hg M

© | k“‘ o |
0 Me 0 /

‘@ Increasing order of the nucleophilic substitution of following compounds Opzil0

ﬁmcﬁmﬁqﬁﬁ‘ﬁwﬁ%mﬂ@wﬁ L

) Q99 ¢

(A) Iaq eIy IV
© Mgy, @ T<I<II<IV
(D) IV<I<Ii<i
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44. Which of the following hydrocarbons reacts easily with MeMgBr to give methane?
ABH JAGIRIIER Ty @I MeMgBra3 el srz0er Rt e Re Besd a0 e

(A)é @
(C)O " il } | .
Y o

45. Adiabatic free ex'phlnsioﬁ; of idéal gas must be

e UG FEOIA 6 2R TR
(A Isobaric (F5!91%) B) Isochoric (FTeTef)
(©) Isothermal (3Fcree) ., (D) Isoentropic (SRFIGRRF)

46. Anoptically active alkene having molecular formula C3H;¢ gives acetone as one of the products on
ozonolysis. The structure of the alkene is

CHl SR FREFSRFB A b IR STty Faee Sufibm oo Ritrere
AL RIS Bl 2 | SRS 161 2

S NS S N
) O s /C=C\
. CH3/ \Cﬂz—czﬂs ¢f13 tI:H—csz
CH, *
ChHs . . [=] R[]
3 \C=C\/CH3 % _ /CHZCH3 o
© s \ ®) c—
H CH—CH 7 AN
3 &, CH,CH, .

47. 360 cm’ of a hydrocarbon diffuses in 30 minutes, while under the same conditions 360 cm® of SO,
_ gas diffuses in one hour. The molecular formula of the hydrocarbon is

b PRI 360 cmwfar:smsoﬁﬁ‘swamwmwm SO, 5% e
TS ] 990! T T | R TS
(@) CH, (B) CHs

(©) CH, ®) CH,

A N S T X E L L LT o
LX X3 LE X R Y N
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The number of terminal and bridging hydrogens in B,H; are respectively
B,Hg 28 % RIER JR0GIaTa TR 27 T

4gnd(«sm)2 (B) 2 and (433) 4
(C) 2 and (9%) 2 (D) 4 and (9%) 4

@\The major product (FS in the following reaction is

OCH;
NeNH,
in liquid NE, ¥
. .
(A) o-Anisidine m v Anisidine *
(C) p-Anisidine D) p-Chlocs il
P aniline
T Rigwm et Ritrare @af (7) o
OCH,
NaNH, i
in liquid NH, T
, cl
m-.
©) pie (D) pGTE e’
For a chemica]
&8 reaction, half-life period (f; ) is 10 minutes. How much reactant will be left after
20 minutes if one starts
with 1
and (it 00 moles of reactant and the order of the reaction be (i) zero, (ii) one

it e R ]

F T G R T () o G
®)0,25, 3333 =@ "I, () 0 R (i) wRe
©) 3333, 55 ¢ : (B) 25, 0, 3333

D) 25,3333,0
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€D Equal volume of two solutions A and B of a strong acid having pH = 6-0 and
pH = 4-0 respectively are mixed together to form a new solution. The pH of the new
solution will be in the range
(A) between 5 and 6 (B) between 6 and 7
@ between 4 and 5 (D) between 3 and 4
CRITA! b ST ST 46 74 A 93 B T pH TG 60 =% 4-0, Fe s 33 @il
T G TS el 26 | oA G0 pH-aF Tl @

(A) 593R 6-97 TG B) 6 GRT~T TG Ofwi{0
%15 %

C) FTTqRSTANE D) 3 IR 4-97 TP

and Q combines to form two compounds PQ, and PQs. If 1 g PQ, is dissolved in 51 g benzene
the depression of freezing point becomes 0-8°C. On the other hand if 1 g PQ; is dissolved in 51 g
of benzene, the depression of freezing point becomes 0-625°C. The atomic mass of P and Q are
(K of benzene = 5-1 K kg mol™)
P 93 Q 3i¢T@ T 0 (15 PQ, 8 PQ, 518 3 |7 1 g PQ, (F 51 g (TGt HIIg® 341 T, O FRANE
SR 28 0-8°C | SR, 1 g PQy-F 51 g Qe rgs 331 2= FRAtes wi3=w Th0-625°C |
P @3} Q-7 A% ©F =& (R K, = 5-1 K kg mol™)

(A) 35,55 (B) 45, 45
(C)’ 55, 45 ) 55.35

@ Identify the major product (G) in the following reaction
N RS RiTa Testr ey Riarars @b (G) *HE 31

¥e
O)L _FeBry ' EIE
Br, i
' : OfLo

m—2Z

@ I ® ¢ I
o O/M/O/ o I/O

RO OO XKDOBODODORRRODDDRODDRVDTDORRIANB DI RN
M1k wl

23 | Pathfinder Educational Centre LLP, 47 Kalidas Patitundi Lane, Kalighat, Kolkata-26 @& 033-2455 1840 / 2454 4817 / 4668




Question with i !
| Answer Key WBJEE 2025 - PHYSICS & CHEMISTRY E:';i‘ PATHFINDER

Where Aspiration Meets Success
E PC-2025(24)

54. Increasing order of solubility of AgClin (i) H;0, (ii) IM NaCl (aq), (iii) 1M CaCl, (aq,) 4
(iv) 1M NaNO; (aq.) solution
AR craefite AgClga TRe! SHEFAFIE e
@) H0, (i) 1M NaCl-q &% &, (iii) 1M CaCl,d% &1 &9 @R (iv) 1M NaNO,qq

TR F9
. (&) CaCl,<NaNO, < NaCl < H,0 (®B) caCl,>H,0 > NaCl > NaNO,

() CaCl>NaCl > H,0 > NaNO, @ CaCl,< NaCl < H,0 < NaNO,

. EI%E]
@lu -

55. Arrange the following compounds in order of their increasing acid strength
Mg (Astafei it wifTe =feq Selaaipig ses

_ Qoo COOH
HO,C(CH,),COOH  CHj ] CO,H(CH,),CO,H
| COOH CooR
g -- I I v
(A) I<O<II<IV B) IV<Ili<Ii<I
©1<Iv<i<m (D) O<I<I<IV

56. Which of the’ following hydrogen bonds is likely to be the weakest?

03 IR R T U578 T 20 i e A
®c-m-0. (B) N-H-- 0 TELs
() O-H-0 M) O-H-~F [=] =

57 H
21;1: many oxygen atoms are present in 036 g of a drop of water at STP?
SR @R B 036 g e s CHBITS Tl SRTE S AH?
®) 6623.x 10 (B)1:205 x 102
R g (D) 1:205 x 107
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&8 The molar conductances of Ba(OH),, BaCl, and NH,CI at infinite dilution are 523-28, 280-0 and

129-8 S cm? mol™! respectively. The molar conductance of NH,OH at infinite dilution will be

Ba(OH),, BaCl, 8 NH,Cl Z3TI3 S s7qe (Vs #AfFizet 523-28, 280-0'6 129-8 S cm? mol™ T,
NH,OH 3013 S ey ciieiy skt 2@

(A) 12572 S cm? mol! 251-44 S cm? mol™
(C) 502-88 S cm? mol™ (D) 754-32 S cm? mol™
(=153 =]
common stable oxidation states of Eu and Gd are respectively _IEI
Eu @R Gd-47 T4 FI SiFees I _
@A) +3 and (%) +3 (B) 4 3 and (%) + 2
(C) +2and (93RQ) +3 (D) +2and (4UR) +2

Which one among the following compounds will most readily be dehydrated under acidic
condition?

el sl oy @b S S TR e e T3

(0]
(0]
(A) \)}\/\/OH . (B)' \/u\(\/
5 ' OH

0 OH
o JL
[=1}G[=]

HO ,

@ sBlo + 2Hc4 > X+ 0111

In the above nuclear reaction ‘X’ will be

Boifaive Rizdw R X ==

(A) NI @) ,N°
(€) (C*? D) ,N?

***%ﬁ@**&&%%—%’ﬂ'@@‘Q%’ﬂﬁé&a&&&a&&&i&ﬁ&ﬁ&&#*@@@***

[=]

(=

25 |
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62. An LPG (Liquified Petroleum Gas) cylinder weighs 150 kg when empty. Wheq ful] ;
30-0kg and shows a pressure of 3-0 atm. In the course of usage at 27°C, the mass of the fu’ljlt Wejghs
is reduced to 242 kg. The volume of the used gas in cubic metre at the normal usage congundef

tig

atm and 27 °C) is (assume LPG to be normal butane and it behaves ideally)
@b F1! LPG (S (e <) Ffereicer oe 150 kg &R S by g 00}

~sm33ammﬁaﬁrﬁmaz7°c%wmm€féﬁﬁw~emm@24.2kg,,ﬁw 89
408 (1 atm G 27 °C) JF© VIPH WA (47 fibIR) T (¥ e mﬁwﬁ%jgﬂm
' Ry

R

4R 9% S STIER S5 )

(A) 246 m’® (B) 246 m’® O3y

(C) 0:246 m® @ 2-46 m® mﬁ%\r
63. What is the four-electron reduced form of 0,?

(A) Superoxide (B) Peroxide

(C) Oxide (D) Ozone

ozwwm@ o e

(A) 319 iz (B) #R3%s

© it (D) e=R

NHOOCH, ul
(A I
) (B) cH, 4
COOH
CsHs—N=N_ ; NH; |
O at-nen-ca ® cucn” of)0
- = COOH E:*'

65l 1 1
Which of the following compounds is most reactive in Sy1 reaction?

3 Cetefer T o Sn1 Riteam Row o ey

&) D—ar =
® >
— H
©
Br
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66. The coagulating power of electrolytes having ions Na*, Al** and Ba?* for As,S;sol increases in th

order
As,S, TR B ©fs FI9 &<eISr Nat, Al* @R Ba™* SRGH CFE R & i AW

) 2+ 3+
(A) Al*<Ba®<Na* Na*< Ba?* < Al

TATH + 2+
(C) Ba?*<Na*<AP* (D) Al**<Na*<Ba

= g[
%
attice with B atoms at the cubic centres, Caton

talise in a cubic solid 1 .
67. Ifthree elements A, B, Cerys then formula of the compound is

at the centre of edges and A atoms at the corners,
2 A, B, C oA e win <31 a1 (o XA B IR T (U, C el it
SRIITT G A AR et AUTF, O (@i WO I

(A) AB,C (B) AsBC

(©) ABC; (D) ABC

68. Which of the following oxides is paramagnetic?

RefiRe sHRveRE T @HD ARRFI?
(A) SO, ®) No;
(©) SiO, (D) CO,
0. {C
69. How many electrons are needed to reduce N; to NH;?
N, NH,-(® Reifie 330e 3 SeRGes 2iee ¢ [=]

@ 3 ®) 4

© s () 6

70. The bond order of HeH* is

HeH*-47 I-3 1
1 . (B) 2
©3 D) 4

**@%@**G%@@&@&G%G&;&;&&&ﬁ%&&éﬁ%@%&&**@&@**i
L -
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Category -2 (Q. 71 to 75) ]
(Carry 2 marks each. Only one option is correct. Negative mark: -15)

71. An egg takes 4-0 minutes to boil at sea level where the boiling point of water is Ty K, where g it
takes 8-0 minutes to boil on a mountain top where the boiling point of water is T, K. The activatiop
energy for the reaction that takes place during the boiling of egg is
ST, (I e o Ty K, b o e 20 4-0 NG 508 (78 | Soiaice oirafoes Sogg
R &R FoF T, K, owfe Fre oo s et 8-0 51 fon Fia 2e7 abimfae Ritmyg
A& *If& (activation energy) 2&

(A) 0-693-sz— B) 0-693-1-‘2——1‘1 Y
T, T r
113 T (=]
' T, T
(C) 0-693R —L-2_ : 5T,
T, T @ e

72. Asperthe following equation, 0-217 g of HgO (molecular mass = 217 g mol~
lodide. On titration of the resulting solution,
equivalence point?

HgO +4I"+ H,0 —— . Hgl >~ + 20H- Elglil

(A) 50 mL :
©) 10mL zOOmL (=
ml

1 reacts with excess
how many mL of 0-01 M HCl js required to reach the
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— xS

OH
- CH,CH,CH,Cl () O,/ OH-, A
* b P - - . *
Anhy. AICI, (if) dil. H,SO,4
The major product ‘P’ and ‘Q’ i the above reactions are ol
Trizaa Rirmefite 24w Rimee g P @R ‘Q 2. T
; - [=]
CH,
" (A) and (4%) CH,CH,CHOg, = (B) and (9R) o
- : . m,
? CH3 L
© and (6%, =0 D) and () CH;CH,CHO
[=] &
- n’
(=]

Y R R R 2 X R R R R Y Y Y Ry I T YI I ™m
(=13 [=]
CH 7
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74, Consider the following gas phase dissociation, PCls(g) = PCl;(g)+ Cl,(g) with equilibrium
constant Kp at a particular temperature and at pressure P. The degree of dissociation () for

PCl,(g)is

A8 eretial @k Bicet (P) 0w it TwfeRe Rares R sioes Ko, PCly(g)-97
[ICTRICIE

PClL;(g) = PCl3(g) + Cl,(g)

Q\

]
T
+ ¢
S

S
C]
=]

]

 o—

N

L~}

S

[~ ]

solution
= 47 ot -

v AN SReT53 Wt sry e

No,
(=] &5 =]
A .
- (B) CH,COCH, [=];
DH ™
© .O ON -
®
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Category -3 (Q. 76 to 80)
(Carry 2 marks each, One or more options are correct. No negative marks)

76. Which i
of the following Statement(s) is/are correct about the given compound?

m@mmﬁmﬁiﬁvﬁ?mm/mﬁq%?
0 0

M (=03l =]
OC,H, ;
It exhibits tantomerism. [=] ¥ g

AR SBNIRE 2 33 |
.(B) Itdoes not react with metallic sodium.
<6 41e3 T ey R v =t
(O It gives reddish-violet coloration with FeCl, solution.
b T FRIRT TRC! G- 78 Geoty 3731
@ It gives precipitate with 2,4-dinitrophenyl hydrazine solution.

qfb 2,4-CRARGRmIZ G ¥ S o

77. Xisan extensive property and x is an intensive property of a thermodynamic system. Which of the
following statement(s) is (are) correct?

xX is extensive. = i
@ | ive (B) _X is intensive. O] E

X . ol dx '
@ ~ is extensive. D) ™ is intensive. [=]¥

CRIE OtAsISH PSR Cria X G o 0o a3k x 93 o Faee of | RefiRe teweim oy
@A/ @wal #fee

X

(A) xX ST A i (B) Ewﬁm
- e
©) ;warcw D) —dx—wﬁﬂw

kXKD O XKD O ROV DOVOVV BBV VDERTVRRDDDODBRND D S *wW
it b
Efi s
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78. Which pair of ions among the following can be separated by precipitation method?

Eu(ll) and (4%) Dy (1D (B) Gd(IID and (4R) Dy (D)
(©) Eu(w) 2nd (&%) Yb(D) (D) Eu(ID) and (%) Gd(m)
79. The compound(s) showing optical activity is/are
@ it/ Astafa SRS oI GTi/Grefer 2=
COOH COOH
(A4) BN H H OH
H cH,
I . ‘CHO COOH
© \c H—] OH
/N, ®)
. cHon °H H——T——o0H
COOH
80. Identify ‘P’ and ‘Q’ in the following reaction EIE
o R P 4R Q- =1 3@t ;_%%
(=] fr=

[Cd (NH,),] (NO), + KON+ H,0 — 5 P + KNO; + NH,0H

l H,S

Q
@) P=K, [cd Ny, Q= Cds
®) P=cas, Q= k, [ (V)
© P=cano,, Q=CdSo,
©) P= (4 (OH,), N0y, Q=[Cd (NO,)] (NO;),

R

* * & Eoowa o
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